
$|А 
',-!ш9|а5 8е1оп5''

Рмш Ре$. ].!г. |-94@2Ф3193932
$!1аэ |е]а 13, Р19а, !-а1т!.|а, |у_1 о7з
А/$ 5\шЁовАшк
[у51 нАвАо551 о46534461

Б[вр1ша{ас|.| ав фа51Бш 6е[1агас1.| а.

((

1\г. ]в-|\12022 1488

1. Рв1га0а.!шгпа цп![а1а1з 10еп1|[т[ао1.|аз т1рв: )ае[:Бе(опш !о9ш шп 0шгт.!ш а||ш р1гзе0:ез .
2.|1ра 10еп{!11[бс!.)аз е1етпеп1в: Рв ' РР.
3.Бйт|аз{гб0а.!шгпа раге0:ё{а!в |:гпап{о.!шгпв :Раге0аё1в ё[ц шп с!(ш !пйеп!егБ{!т!ш пе5о3а'атп

[опо{гш[с!!агп .
4,Рйо[6}а повац[цгпз цп &оп1а1с!а0гезе: : 51А ,,!ш9!ав Бе1оп$'' Б11ао !е|а 13, Р13а, |,у _ 1073, 1,а1т!|а.

&айо5апаз у1е{а: 1\{аг[а|пео |е!а 11/2, &т3а, \у _ 1024, !а&!.!а,
1б1гцп|в: +з7 \ 2647 7 87 1 ; е_рав1э: |ц81аз6е|опз@!п6ох.1у .

5. Р|1пуагоЁ6 рагв|6м.!а уаг6; цп [оп|а[{а4геве: \1ат р|етпёго!атпэ
1:р1а11|б.!з: Б[А,,Рагп[опз '' 1\г15г1са|пез 1е\а1'1'12, Рл}а, | 9 -!024,\а|э1!а,
1а1гцп| в : +з7 1 21 822622 ; е-рав{з : гагп[опв@|с1а ; тттт'л.гагп&опв. 1т .

6.Б&вр1ша16с!.|аз :рав!6ш по1цгфав потёг|ё.!штпа шп раг6ао6ез з|з1ёгпа: 3
7.Бшт!аз{г60б.|шгпагп,&шгагп !г вав1<ацо1а|з з1ап6аг!в: [\ 845-2:2013 ,,6гошр о{1ез11п9 |а}ога(ог|ез Бш|10!п3
Реэеагс!п |пз1!1ц{е '' ( Ро!|!а,\{агоатп) 1\Б 1488 уе!са (еэ1ё3апц а{6!1в1о3! в!з{ёгпа! 3 т:п !зп|е6:а 1ез(63апав р5гз[а1ш
|ц[г. [1(00-2919/15/200шк, (!азп|е91з 20|6. ц. 02.0б).

8.Бйт!ав1г165.]ц1па1п, [цгагп |г !а6о1э Р|гораз 1е}:п|в[а|в потё:1ё.|шгпв: },1ат р!егпёго!агпз

10. Б!у|ав1га6б|шгпа, &а пога6т{з
е[вр1ша|6с!.|ав 1ра5|66гп.

1. 2. ршп[1б, е[вр1ша1ао|.|аз тра5!Баз а{611в| 9' ршп(б погаат.а.,агп 6е[1агё1а.!атп

Раг 5о 1:0о1о е[вр1ша1ас1.]аз 11 |еп19! 4. ршп[1б пога6-т1а|з га2о161з'
}.{о гайо[6.!а ршвез шп 16

6еп601.|в !ав1[]етз

. }е&1агё|6з
Б011з[1е га[в{цг1!е1цгп! Б[вр1ша{6с!.!ав 1раз16ав $аз[ацо!а 1е1тп!в[а врес!{1[6с|.|а

1:в1га65.]шгпа 0е1а1!аё5апа 1п1п. гпа1<в.

Б,1\ 845-2:2013,
5ёг!.! а 1.038. 1 -1 1п\.1,2'4,5'12.

6агцгпв ( !)' гпгп 1030 5960
Р1а1цгпз ( Б) ,гпгп \20 510

8|еацгпв (Ё),гпгп 65 585

й1п1гпа1а]о 6а1в{а 6:1|шгпз, тпгп 100 650

\оу!гаепв по р1а[апшгпа, гпгп >10

йе}:1п|в&ав тра51баз

РаБ{шф6 пез{врё.]ав в1о6ае,[}х|/гп 0.98 7о'61

31о6аев уе|0э 1!е[5апа

|е1|есе р!е з1о0аев , гпгп 2.10 2з.16
[-]0епз 1уа![а сашг1а|6Фа, р 50/1 50

$|1{цгпуа6]1врё] а .\{{/(гп.1() Р:50%' А:о= 1.51
Б]1уцпз зацва я1'5уо[|!' [д/п' 2з50
{-}дшпв1а{шг!Ба к30
119!:{шг1Ба ( зава15апа шп а1(шЁапа ) ва1|а|шг?3з

{а[цпБа рге[ [ого:1.|ш в1
Б:в1агпав у!е1ао пе$а1цг

Р|36, 2022.9а0а 02.6есегп6г|в

а1б11019в

$|А"|ш9|аз 8е|оп5'' ма|6ез рг!е}<5зёсё1а.;5


